
Subject: Relation multiplicity  AssociatedNetElement to PositionedNetElement
Posted by Regina Klimmek on Tue, 13 Sep 2016 17:22:11 GMT
View Forum Message <> Reply to Message

Dear all!

LinearLocations and AreaLocations both comprise one or more AssociatedNetElements to refer to
the network. Each of those AssociatedNetElements refers to one or more 
PositionedNetElements. 

But look at the AssociatedNetElement's parameters intrincicCoordBegin, intrinsicCoordEnd (both
in the [0,1] interval) and keepsOrientation (boolean). How should the intrinsic coordinate refer to
several PositionedNetElements? How can one AssociateNetElement keep the orientation of, say,
two PositionedNetElements oriented reversely to each other?

The positioning works perfectly well if each AssociatedNetElement has one and only one
PositionedNetElement. What is the intention of more than one? 

Are the several PositionedNetElements belonging to distinct levels? Needs some explanation.

Best regards,

Dr. Regina Klimmek
IDM Strategie
Informationssysteme Infrastrukturdaten (I.NVI 1)

DB Netz AG
Weilburger Str 22, 60326 Frankfurt
 ____________________________________________________________
_____________________
Der DB-Konzern im Internet >> http://www.deutschebahn.com

Sitz der Gesellschaft: Frankfurt am Main
Registergericht: Frankfurt am Main, HRB 50879
USt-IdNr.: DE 199861757
Vorstand: Frank Sennhenn (Vorsitzender), Dr. Roland Bosch, Bernd Koch, Ute Plambeck, Prof.
Dr. Dirk Rompf, Dr. Thomas Schaffer
Vorsitzender des Aufsichtsrates: Dr. Rüdiger Grube

Subject: Re: Relation multiplicity  AssociatedNetElement to PositionedNetElement
Posted by Alain Jeanmaire on Fri, 07 Oct 2016 08:40:38 GMT
View Forum Message <> Reply to Message

Dear Regina,
thank you for your analysis, and contribution to improve the quality of RTM model

on behalf of Gilles Dessagne, 
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This is effectively an error in the current version of model. 
The cardinality toward PositionningNetElement should be 1 and not 1..*.

The correction is under work.

Best regards
Alain Jeanmaire
SNCF Réseau
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